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Q1. How gomatic hybrid of mango and peach wouid be produced having disease tesistance and

seedless feature froim mother plants? Explain the methodologies for the screening of desirable

somatic hybrids and their regeneration into complete plants? [2.5 + 2.5 Marks] (CO3)

Q2. Explain the methodology for the production of double homozygous haploids of Aconiiun:

hetrophyllum. What are the factors responsible for their reproducibility and how ? [2.5 +2.5
Marks] (CO1 &2)

(25. Yor the production of clones of seedless Papaya,which techaology yvou would fike to apply

and how you wil gei' 106 clones for the same? Which factors should be considered for the

isheritance of ail these traits in the deughter planis and how vou weuld like to asply those during

research interventions? !.2 225 Marks] (CO4)

Q4. How you can produce the virus fiee pianis of orchids? How vou can indexed these virus frae

glants and carry out large scale p"oduction in the fields, [1.5+1.3 Marks] {CO1 &2)

Q5. Differentiate adherent and suspension cell culture. Which of them requires epzymatic cell

dissociation? Crowth of the cells is limited by surface area or conceniation of cells. (5 Marks]
(CO5.6)

Q6. Primary culture involves different methods in cell culture process, Bow would vou brepare
a primary culture from brain iissue? How telomere is used as a target to transform normal cells to
immortal celis? [5 Marks] (CO 5,6

Q7. Three types of accessory proteins modulaie cycling of G-proteins between GTP/GDP,
Briefly discuss what are they and the mechanism behind the reguiation, [3 Marks] (CO 1,3)

Q8. The molecular weight of Glucose is 180.156 g/mol. Calculate the amouat of glucose
required to prepare lmM Glucose for 100ml media. [2 Marks] (CO 5,6)

Q9. Protein carriers, which can transport two substances at the same time in oppesite directions
are called? What will happen to a RBC when placed in a Hypotonic solution? [2 Marks] (CO

1,3)



